olcims| 52
(2020. 6.14)

| 5]
SeloF

— ofil
RO
=2
<JR
b
B 4

I

KD
Kl
Ki0
4]



(=
==
A
0
N
o
02

0&-14&8: Z=& & 0|0p)]

o
2
o
He
H
[0
2l

IOl HAIJIUAH Ol =&
Aot BN 2 XHEKl at= =2t ofL &
ctdltiel=2= 2 HN= 108 =2 AH=0] 2
MET et ditiel2d 22Xt 11E=2 = &
re) ©)

o NN HU
Sl
o (I

00
>y
=

'O 140 iy 22 =
0
2 ne
0
o

L
J
S T2
A



Thomas Piketty 21M17| XI&

r>9t.:'1—..ﬂ/¢(wealth)oj SN0l BN SA&E(@g AS
d&8)2 d2l A A28 E:17
0 r2 SAH 23 6o; =AU REA 2018 S
L OEQ MRIRO AR g= 2%t MHE 015 19706 5
()

5% L 2I; OI%OH_ 3% OlL; 2008 222 =57 &
=8 ME?)| 0l=0l= A= 1~2% &

20088 == 2 =) 0l= ME2HMEsd/IMdE S



WID(World Inequality Database] A5 838 =(|
= Q2D 0= &2 10% (MHE) 252 HIaOI JtitEe A &=
o SR HM= 0= 2 220 Hl=xet =& O| Big-U shape

e 01 =
. DA0 220 AL £ US| AHEOR HEHY

2kl
40

Hl& 30|

_I\I'I

F2| 10% 7121 259

0.55

0.5

0.3

L I = T T Y - T ST T - B B BT S - N T BT N S N BT, T - N T T T = N R ST, B - B B BT B - S B B, B - B I BT, )
PR~ B~ R S NI S - - S - G R e R R R R EEEEEEEEEEEREEERE:-E-E-
LR IS S e S - N = O L= - = = = = WS- R = B+ =~ - S S - T = B = = - S < < O < = I - - = L < S © ©
I e I B B e B B R B B B T B e B R B B B e B B B B B B e B A= = = B B B B B B P B SOV IR I S NP It

clLict 2 =220 A5 &% 10%2 87 = 0|
1979~19954 (30%) - 2000 (35%) - 2006 (42%) > 2016 (43%)
1= (2010 41.6%), T 2t A (2014 32.6%), 0| 2(2014H 47.0%), & =(2016= 34.0%)

m
d
d




o 13
— —

AAHEZEO0| 2

NI =

=S

Ab

clLiek2l At

OF

Ol;

KF

il
OF
RO

g

| 10%2]
UM = &fsote =M= 20[04 O

ok
<0

<

N\,

o9 10% 70 AHAH(F) 2] H 7 HIE 0]

€70C
110C
600C
£00T
500C
£00T
100T
6661
L66T
S66T
€66T
1661
6861
L86T
S86T
€861
1861
6461
LL6T
SL6T
€L6T
TL6T
6961
L961
S9%1T
€961
191
6561
LS6T
SS6T
€S6T
1561
6¥6T
L¥6T
ST
EV6T
6T
6€6T
LE6T
Se6T
€e6T
Te6T
6761
LT61
ST61T
€761
161
6T6T
L16T
ST6T
€T6T

0.9
0.8
0.7
0.6
0.5
0.4

M
=

Moz MIIE Jts

| AICH

XN X} O
o o —

| M=2H N
A ASOBI0| KAl HITHO AS U 2

o

0

ol
100
30

]
H

il
K0

0
Jo

SIRN
J

Rl
IF =

0

]
@




1986 Ol= Rcllict 8= & A= FHIIAZ2 LElA=2 Al =2 7 AFS

HE Qi &= &3)

o A= OHIE X=+== 681 &=

o FANSAHA=SY EXJHHE2 8= D& 1995¢ HH| 2018E J| & 5.26H
Ot

700.0

600.0

500.0

400.0

300.0

200.0

100.0

0.0

o 10HH It 2 At
& & = 353 2k 3UH~108H1 AtOl O &l D2

g
CPI M=E53 MEFE w=AZ2APT




K0
wir
oK

ar

ol
K0

L]

<J
1HO
-

OF

Ol
=

HOI el el Al w7 &I Ol

XN X
o T

IAHE 2 dUHZE) 250 O

N
o

A

01249
0 MM SUS A KT e RONRHEIZE A 2I K RIB)Lt =e

ol
-

0.

0.

KD
J|

Ol
Rl
Iy



U

U

U

Retd &S

A BEHUE Blie RFsd(E2) 252 &S S22 2l
E=AMN(E=ME)= OECD =Jt2t Bluol M 02 &= &, CHEt
Helhle Cas =2 B(es 25 AMl vs. 23 4HA)

== s ME ELA E=2A= At 220l Hd =

SM= =0 AtetEM? 8 MJF A2 D) Ml & e
SUsitasotH 2?7 HdE 2M, AtE2 522 =27
NE(HIA) AelUORE RSN S ER2ASO| Hjs
SHO S8 ALEIC X% JHSAH S HOtAIZ JHs &
L= 2=E0 Mol Fs4t FEAME o #1) Us a4 8

AL (K2 A, A2l & HRIBHEC Hl2= 40| =0tE Jts A
== =M 0E=2FEAMUS A/ Z2e/Ettss ==
SHEC=Z 72lotH Set= 0l& i 3+ 21



[

S 2] XA ETS A0S YO 010ICI0f

= A= Al (= AHAEALD) &= &2 (Piketty, 2014)

MAZ AUOl= K0l 252 S Lo =AtA0| 1323 L E

U

H 01t B 1-25%2] HI22 XA =0 2t (4~5%2] 2= XAt
0101 Al 1~29% S01 3% (=& AS) AIZ S0l 2B5tAE A&

0 2RO 2EHMH IS0 CHE SHE HIOIEHIOIA 2= L 242t
20| AT K LOH HX U

Al ANMHE BELU S8Eotl) s=82 =2 &dl

L 28AS/IAS xr RO ASE BE LES 23

L BEMESHASNES)ESOECD B2 2F(1% IO 2 BTt
HASH B0 EXHE AL U S0 BES HH S

0 R =S AS AKX HIBUS%)E B =0l U2 T

M& JletsS &Solld 0| ez 8380 885 3=

Soll 82 Ardtel Hera0| AtA MICHe S 240 01& =

Hot= zlAot (&SI HO?)

0 BHUEBNY/OI2RE/A S K20 ALl 3

0 () 25MI0F SIS T 2E & H0) 0 125& 0HRI(120,0009 2) 2

JlZ= =22 MlE (Piketty, 2019)



1IXAE 8 sdgEldd) del=z2 2AE
F

OFOF OFAIST 0l =&t 0| HOHel, &#43,

=0 LAt JtEetCHA?

0 19 AHl= JIES MZES IFHA O LIOFF 1 X
T=Ho LR2NE e DRU UK AR2(R =0
AH| REO| AICH); L2 AH|J}HO ASH

O
wmwmno gOHM@imummmedMEJ
NEtl Ho|Re A E8S
i ?

Al
2= % ASIH



